
GENUINE SUZUKI ACCESSORIES

1/4

Ref. Description QTY
① Sari Step 1
② Bolt (M8x60) 2
③ QR Code Sheet 1

 
①

② ③

  I N S T A L L A T I O N  I N S T R U C T I O N S

99121-29L20 D

Description : SARI STEP Part Number : 43600-2982*
Applications : UZ125 Installation Time : 0.3 H

Ref. Description
(1)  Driver
(2) Socket (10, 12 mm)
(3) Ratchet handle
(4) Extension (200~300 mm)
(5) Torque wrench
(6) Universal joint

(1)

(4)

(2)

(5)

(3)

(6)

Contents

Tools
Required



GENUINE SUZUKI ACCESSORIES

2/4

 WARNING /  CAUTION /  NOTICE /  NOTE
Please read this manual and follow its instructions carefully. To empha-
size special information, the symbol  and the words WARNING, CAU-
TION, NOTICE and NOTE have special meanings. Pay particular atten-
tion to messages highlighted by these signal words:

 WARNING
Indicates a potential hazard that could result in death or serious 
injury.

 CAUTION
Indicates a potential hazard that could result in minor or moder-
ate injury.

NOTICE
Indicates a potential hazard that could result in vehicle or equip-
ment damage.  

NOTE
Indicates special information to make maintenance easier or instruc-
tions clearer.  

1. Check that the kit includes all the parts listed on the fi rst page.
2. Check each part in the kit for scratches or any form of damage.
3.  Park the vehicle on a level ground.
4.  Remove the ignition key from the switch and store it in a safe place.
5.  Disconnect the negative (–) cable from the battery.
6.  Protect any items removed or to be installed from scratches by plac-

ing them on a soft cloth fi rst before putting them on the ground.
7.  Use care not to cause any damage to the body of the vehicle during 

installation of the accessory.

Be sure to refer to the UZ125 service manual, when removing or 
installing STD parts.

* STD parts = Component parts of SUZUKI motorcycle

Precautions 
for 

Installation

Important



GENUINE SUZUKI ACCESSORIES

3/4

Removal of the motorcycle 
parts
1. Remove the luggage box 

cover (A).

2. Remove the luggage box (B).

(A)

(B)

Installation



GENUINE SUZUKI ACCESSORIES

4/4

Installation of the Sari Step
1. Fix the Sari Step ① to the 

bracket on the frame by us-
ing the Bolts (M8x60) ②.

 Bolt (M8x60) ② :26 N∙m 
(2.7 kgf-m, 19.2 lbf-ft)

Insert the Bolts (M8x60) ② 
from the front of the motorcycle 
and tighten them. 

2. Install the removed motorcy-
cle parts in the reverse order 
of removal.

①

②

①

Front

Front

Bracket


